Papéx 2,
Question Ha)

1 Use. the mark scheme below. to assign.a mark to.the. answer. Explain your decision.

5 (a) Describe two features of the Babington plot (16586). (4

R Each valid feature should be awarded 1 mark, up to a maximum of 2 marks. Each feature should be awarded a

Feature 1: One feature was that Mary, Queen of Scots, was executed after the plot was found
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Marking instructions

second mark for supporiing information. E.g.
¢ Mary, Queen of Scots, was involved in the piot (1 mark), which was shown by Babington's letters to Mary 1 mark).

| would award the first {eature out of 2 marks becavse

5 {a) Describe two features of Elizabethan society. @

Marking instructions -

Cach valid feature should be awarded 1 mark, up to a maximum of 2 marks. Fach feature should be awarded a

second mark for supporting information. E.g.

s People had to show care for those below them (1 mark). Landowners had a duty of care for their ferants if, for
example, there was a harvest failure (1 mark).

! would award the first feature out of 2 marks because
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Paper Z,

Paper 2,
Question Ba)

Dueslion 5a)

1 Use the marking instructions below to.complete the student’s answer so that it would be |
awarded 4 marks. '

5 (@ Describe two features of . (5]

5 {8) Describe two features of the Puritan challenge in the 1560s. 4) -

(Wailed it!

. : L L Marking instructions

Each valid feature should be awarded 1 mark, up to a maximum of 2 marks. Each feature should be awarded a
second mark for supporting information. E.g.

* Puritans wanted to live in a ‘'more gedly’ society (1 mark). An example of what would make society more ‘godly’
was banning ‘sinful’ activities such as gambling or cock fighting {1 mark).

5 (&) Describe two features of ) [E)]

"@im@é@

2 Use the marking instructions below-to complete the student’s-answer-so-that- it would be-awarded
4 marks.

5 (@) Describe two features of schoot education during Elizabeth’s reign (1558-1603), (4}

.............................................................................................................................................................................................................

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, e SR . Marking instructions

Each valid feature should be awarded 1 mark, up to & maximum of 2 marks. Each feature should be awarded a _

second mark: for supporting information. E.g.

* Very few children in Elizabethan England went to school {1 mark). No one believed there was any peint
educating anyone but the children of rich people, since it was thought no one else woutd need it (1 mark).

5 (@) Describe two features of . 4

(Nailed it! ]

45




Paper 2,
Duestion 5{h)

Paper 2,

Question ()

1 A student has written the first paragraph of an_answer to this question. Use the hints below
to improve it. )

,,,,,,,,,,, =g (b) Explain why there was an increase in poverty in Flizabethan England, 155888, (12) 5 (b) Explain why the Spanish Armada was defeated in 1588. {12)
You may use the following in your answer: B You may use the following in your answer: | wish I'd practised writing exam answers in my
s rural enclosure © You should only include information that o the Batile of Gravelines (8 August 1588) revision! | learned loa ds of facts and dates, but ___________
+ bad harvests is accurate and relevant in your answer. o the weather som etin:| es | just wrote down everything | could 1
You must also use information of your own, You must also use information of your own. remember about a topic rather than using what [

knew to actually answer the question.

@:Ea,d ago

A Enclosure meant poor people couldn’t use common land any more.

B ' Monasteries had helped poor people in the past, but they had been
dissolved by Henry Vil in the 1530s,

...................................
........................................................................................

C England’s population grew from 30 million in 1551 to 42 million in 1601,

D | People who refused to pay the poor rates could be put in prison after
the 1576 Foor Relief Act.

e :

g There were harvest failures in 1562, 1565, 1573 and 1586, which drove vp L * Focus on explaining — the answer so far has too much description.

food prices and meant subsistence farmers couldn’t grow enough to live on. ° Make a clear argument. The answer above is not very clear Draw attention to the points you are
' ' making by using one paragragh per point and saying things like ‘A second reason was that...’

* For each point you make, say why this point helps to explain the defeat of the Armada.

° Support your points with detail or examples that show you understand this topic. |

[]

The @I"OW’th in the triangular‘ trade, deveioped !9}’ N e 2 Ta W Y2 X1 - 1

increasing demand for land due to population increase

Economic recessions caused by trade embargoes e T T LT T LT T PR e

N

Sheep farming, because it meant less food was grown

..... R " Ppaper2, Question 5(b) gives you two stimulus peints, but you need to 7 I
add your own information as well as {or instead of} these 1w points. :
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Paper 2,
Cuestion 5{b)

5 (b) Fxplain why Drake circumnavigated the globe (1577-80).

You may use the following in your answer:
+ the Battle of San Juan de Uida (1568)

e profits

You must also use information of your own.

Evidence of analytical explanation,

as the student is consideting which
raasons might be more important than
athers. Let's see if this gats developed
later.

Detailed knowledge shown hare; shame
the student did not link more closaly to
the question, e.g. as evidenca of profits
from the raids for investors.

Clear focus on the guestion from the
start of the answer. [ntroduces own

knowledge and understanding: potential
for Level 4.

The student is spending far too much
time describing what Drake did here:

| can‘t give this any marks because it
isn't explaining anything.

Papey 2,

Duestion B{aj(i)

{c)i) *Religious divisions were Hizabeth's main challenge when she became queen in 1558.

How far do you agree? Explain your answer. (16)

You may use the following in your answer:
s Catholic grievances
e Philipil

You must aiso use information of your own.

Paper 2, Question 5{c) gives you two stimufus
points, but you must also use your own Information
as well as (or instead of) these two points.

Catholic nobles like the Nevilles and Percys resented their loss of influence under Flizabeth.

In 1566 the pope instructed English Catholics not to attend Church of England services.

C Feople believed that priests could quide them in life and protect them from bad
conaequences.

D Philip It of Spain had been married to Mary, Queen of Scots, which gave him a claim
-~ to the English throne.,

E By 1570, England was surrounded by potentially hostile Catholic powers. The Pope
also excommunicated Elizabeth in 1570,

Excellent use of AOT knowledge to
suppart an AQZ analytical explanation.

Legitimacy, as a daughter of Anne Boleyn D The Furitan challenge

England’s financial weaskness , E The Peace of Troyes

The Auld Alliance
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Paper 2,
Guestion S{ali)

""" “— One has been doneg for you.

5 {c}) ‘Religious divisions were Elizabeth’s main challenge when she became queen in 1558."
How far do you agree? Explain your answer. (16)

You may use the following in your answer:
* Catholic grievances

e Philipll

You must also use information of your own.

/Hint

s |n deciding ‘How far do you agree?’ for question 5(c)(i) and (i), you shouid consider points
that support the statement and points that do not support, or counter, the statement.
You then use this evidence to reach your overall judgement.

One of Elizabeth’s first acts as aueen was the religiovs settlement of 1559, which
. tried to establish a form of religion that would be acceptable to both Protestants and
Catholics. This shows how important it was to her to deal with religious differences.

D There were very significant financial problems in 1558: the Crown was £300,000
" in debt and debasing the value of England’s coinage had resulted in inflation.

When Anne Boleyn was executed in 1536, Henry VI had excluded Elizabeth from
I:] the succession. Although he reversed this decision before his death, many people
continued to doubt Elizabeth’s legitimacy.

D  As well as Catholic grievances, Elizabeth also faced a Puritan challenge to her
religious settiement.

D In 1566, the Pope instructed English Catholics that they were not to attend Church
of England services.

D  Mary, Queen of Scots, was a focus for Catholic plots against Elizabeth because
' she was a Catholic with a legitimate claim to the throne.

These questions are worth 16 marks, so | triea to

A A..stude,nt,,,has___writte;n a plan to answer this 5(c)(i) .question. Decide which of their points. ,
support the statement below and which counter it. Mark each with an S (support) or a C {counter}.

" leave plenty of time to tackle them properly.

1Use the prompts below to complete the first two paragraphs of the. student’s answer.

5 {©)) ‘Religicus divisions were Llizabeth's main challenge
How far do you agree? BExplain your answer.

You may use the following in your answer;
¢ Catholic grievances

s Philip I
You must also use information of your own.

Paper 2,
Duestion B{e)(i)

when she became queen in 1558,
(16)

For aquestions like this, you dort just have to write

about the issue in the question. It's asking you if

religious divisions were most important, o you need
to discuss the other challenges Elizabeth faced as v

well and then explain which was most significart.
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5 () ‘Religious divisions were Elizabeth’s main challenge when she became gueen in 1558
How far do you agree? Explain your answer,

(16)

Hints

Questions for Paper 2 test your knowledae of the period and your ability to interpret this
information using ‘second order concepts, such as:

o Causation — what were the reasons or causest

» Consequence — what happened as a result?

* Significance — what was most important?

o Continvity and change — what changed, and what continued as before?

k' Similarity and difference - what was the same, and what was different? .

A Causation G = Significance

B Conseguence

2

_Choose-A; B, C-or .- Explain your GhoIEE . — oo o o e T

5 ©f ‘Mary, Queen of Seots’ involvement in the Babington plot was the main reason for her execution in 1687

How far do you agree? Explain your answer. (16)

i A Causation C = Significance
B | Conseguence D Continuity and change

. 1. Fillin the.missing prompts to complete the questions. One has been.done for you.

Paper 2,
Duestion B{e)(ii)

Question 5(c) always has two options to choose from, so you can pick the one you can answer best. L
Each question has two prompts to help you aut, but dort forget to use what youve learned in class as weH.“.

5 ()id ‘Rural enctosure was the main reason for the increase in poverty during 1558-88." s
How far do you agree? Explain your answer, {16}

You may use the following in your answer:

e bad harvests

You must also use information of your own.

5 (i) ‘Lack of planning was the main reason for the failure of Virginia.”
How far do you agree? Explain your answer. (16)

You may use the following in your answer:

You must also use information of your own.

. 2 Add appropriate statements to complete the questions. Make sure your statements are relevant

to the prompts.

How far do you agree? Explain your answer. (16)

You may use the following in your answer:
» the raid on Cadiz

i s commercial rivairy :

You must aiso use information of your own.

How far do you agree? Explain your answer, (16} ,,,,,,, .

You may use the following in your answer:
s the excommunication of 15670

¢ frecusanis ]
You must also use information of your own,




Paper 2,
Question B{o)(il)

1 ,A,,,s,tu,d,cnt,,,ha5___wri_tt,én, a plan to.answer this 5(c) question. Decide which of their points
support the statement below and which counter it. Mark each with an S (support) or a C (counter).

&

{©fF) ‘Mary, Queen of Scots’ involvement in the Babington plot was the main reason for her execution in 1587
How far do you agree? Explain your answer. (16)

You may use the foliowing in your answer:
* the threat from Spain

¢ FElizabeth's excommunication (1570)

You must aiso use information of your own.

4 Hint

You

.

* In deciding ‘How far do you agree?” for question 5(c)(i) and (i), you should consider points
that support the statement and points that do not support, or counter, the statement.

then use this evidence to reach your overall judgement,

Mary was sentenced to death because Babington’s letters, intercepted by
\Walsingham, gave clear evidence that she was involved in the plot and supported it.

Previous plots involving Mary had also been uncovered by Walsingham without them
leading to Mary’s execution, e.g. the Throckmorton plot of 1583.

There had been strong demands from parliament for Mary to be executed before (e.g.
in 1572 after the Ridoli plot), but Elizabeth had been too worried about Catholic
unrest to execute her. The Babington plot forced her to overcome these concerns.

Previous plots had shown just how major a threat Mary posed to Elizabeth. However,
what made the situation so sericus in 1587 was that England was virtually at war with
Spain (since 1585) and Philip 1l had supported the plot.

In 1570 the Pope excommunicated Elizabeth in order to encourage Catholics
to oppose her reign, Because of this there were many plots against Elizabeth,
including the Babington plot,

After the Babington plot, persecution of Catholics in England intensified, which
showed that Elizabeth’s government was no longer worried about upsetting
Catholics. This was a factor in executing Mary. However, this persecution had begun
after the Ridolfi plot of 1571 and intensified after the Throckmorton plot of 15863.

Paper Z,
Dueastion B{e){ii)

(o)t 'Mary, Queen of Scots’ involvement in the Babington plot was the main reason for her execution in 1587,
How far do you agree? Explain your answer. (16)

You may use the following in your answer:
s the threat from Spain

* Flizabeth’s excommunication (1570}
You must also use information of your own.

| found these question prompts really
useful. They helped me frame my
response and gave me clues about what
needed to be in my answer

Hints
* This answer contains some qood knowledge, but it needs to analyse the information to explain
its importance.

* The answer mentions other points that could be used as evidence to support the statement or
arque against it, but the student needs to develep these points.
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Sorme accurate and relevant information is included.

The answer i

Paper 7,
Duestion S{e)(ii}

This simplified mark scheme for Question 5(c) has some information missing. Complete by ..
putting the information below into the correct gaps. One has been done for you.

Accurate and relevant information is included that shows good understanding of the topic.

There is explanation of why reascns were important, very clear to read and linking to the question all the way through.

There is an overall judgement with some justification, but the justifications aren’t always very good.

There is an overall judgement that is fully justified ina convincing way.

There is explanation of why reasons were important, but the explanation doasn’t really link to the question.

The answer doesn’t make any judgement at all.

The more you get to

know what examiners are
locking for, the better your
answers will become.

| evel

Mark

13-16

AO: Accurate and relevant information is included that shows & really good understanding of lots
of different features of the topic.

AOT:

9-12

AO2: There is explanation of why reasons were important, which generally links to the guestion, but
not always very clearly,

AOT:

A1 There Is a judgement about the most important reason for the execution, but the answer just

says it without backing it up.

AO2: Thg answer is very simple and not at all developed.




